PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
19th July 2016, 03:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg e gﬁ'&’
wil fou T FuAY Td frpul & aR § e R

Statements: / $Y:
No blots are clots. / &S SR Yab gl gl

Some blots are floats. / $© g TS gl
Conclusions: / e

I. No blots are floats. / I. ®Ig &N HITS g1 ¢l
II. Some blots are floats. / II. $© SN HTS &1

® Only conclusion I follows / Fad ey 1 FHeadrn %

® Only conclusion II follows / Fad fpd 11 FHaan %

® FEither conclusion I or conclusion II follows / 9T a ﬁmmf 1391 fise ﬁm?cf 11 fFreadr %

e Neither conclusion I nor conclusion II follows / T @ frepd I fraar % AR Bt forepd 11

Correct Answer :-Neither conclusion I nor conclusion 11 follows / T I forspd I forardr % MR A Bl
e 11

2)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg IGEa
e, St ad #1 =} A 7R R Te FY= & JuE B :

If today is Wednesday, then tomorrow is Thursday. / f¢ 3Tl §UaAR g, AP QWRE'TIHI

* If today is not Wednesday, then tomorrow is not Thursday. /uﬁanﬁrgwqé’f%, ar
S TR 81 |

e If today is not Wednesday, then yesterday was not Tuesday. /afg &n\_rrg?ﬁﬂ'\fﬂé’f%, @
S HITAAR a1 4Tl

()



e If tomorrow is not Thursday, then today is not Wednesday. /wﬁwwqﬁa Gl
TS JYAR Tl gl

e If tomorrow is Thursday, then today is Wednesday. /uﬁzwgw?%, Gl SISl YR Bl

Correct Answer :-If tomorrow is not Thursday, then today is not Wednesday. / af¢ @

AR 7TE} 8, Y 3T gHaR 8 B

3)
Question Stimulus :-

The state that has the longest coastline in India is ./ AR H URA BT I T JHx dc gl

e Andhra Pradesh / 3T 'Q%EZT
® Goa/ iG]
* Kerala/ H3d

® Gujarat / SIRTd

Correct Answer :-Gujarat / ToRTd

4)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / g fd®er

g, ah s R A TR R U Fya & U= #

“It is not the case that you can be late and catch your plane.” / “Ug A 98] & f& oMy de g
Ipd ¢ 3R 3T faHH uPps gbd §1”

* You cannot be late, or you cannot catch your plane. /Wﬁf?ﬁ?fiﬁﬂﬁ, g1 319 YT
fouT= 781 ups IHd|

* You cannot be late, and you cannot catch your plane. / 310 dc T8l 81 THd, 37 37
3T famT 78 U s TP |

®* You can be late, and you cannot catch your plane. / 34 A< Bl TPHd %', 3T 3MY 3T
famm 78 uws TP

* You cannot be late, or you can catch your plane. / 3T ¢ gl g I&d, T MY =T foar=
U$Hs JHd 3

Correct Answer :-You cannot be late, or you cannot catch your plane. / 39 @c 8! &

THd, T 3T 3T fIHT 81 udhs I |

5)
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Question Stimulus :-

Which of the following is the number of seconds in a year of 365 days? / fadaa &I 365 ﬁ"'-ﬁ > 9T § 9Hs
@I T=IT 7?2

® 31503600

e 31536000

® 31534000

® 31566000
Correct Answer :-31536000
6)

Question Stimulus :-

Which are the vowels and consonants repeated in the word, ‘REGELLIOUS’ ?/
‘REGELLIOUS’ Tt # $I9 § TR 3 ool gIed T 82

* E, B

e IO

e US

e E,L
Correct Answer :-E,L
7)

Question Stimulus :-

P+Q means P is the son of Q; P-Q means P is the wife of Q, PxQ means P is brother of Q, P
<+ Q means P is mother of Q and P=Q means P is sister of Q. / P+Q Wﬂﬂﬁﬁ? P, Q WQET%,
P-QHTHAAGE P, QB UAI S, P X QFPTHATI S P, QPTUE &, P+ QBT U@ & P, Q I {i & 3R
P=Q ®THAAT € P, Q F1 ¥ Bl

What does U=W + V mean? / U=W + V & FIT HAAT 8?2
e UistheauntofV /U, V&I g3mg
] UissisterofV/U,VHﬁ'él'sq%
o VisthenieceofU/V,Uaﬁ'l-lT'ﬁ\_rﬁ%

® Visthe daughterofU/ V, uﬁéé’r%

(4)



Correct Answer :-Uis the auntof V / U,V &1 g3 g

8)
Question Stimulus :-

2015 cricket world cup was held in /2015 foppe fay &y o smaifera fosar am AT
® Pakistan / UTfhIdTH
® West Indies / %€ 3’@7:[

® New Zealand / qsﬂﬁ:r:
® Australia/ \'HT'\%I%ITIT

Correct Answer :-New Zealand / o108

9)
Question Stimulus :-

The highest rank in the Indian army can be / YR 991 # Har Uq B’\f b dl %
® General / STFIRA
® Field Marshall /'Qﬁﬁ'-;:lTQfa
® Major General /ﬁTrR' ST Rd
® PBrigadier General /ﬁﬁ%’iﬂ'm

Correct Answer :-Field Marshall / TS HTRId

10)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / fauy o
98 g A B il STl | ST 3

e Camel and ass / S 3R YT
®* Hen and chicken / Tﬁaﬁ'\’q\?ﬂ
* Sheep and lamb / ‘ﬂ@' 3R A9
e Cow and calf / T &ﬁ?m
Correct Answer :-Camel and ass / ¢ 3T 74T

(5)



11)
Question Stimulus :-

The full form of SEBI, the regulator of securities market in India is J “'\a'éﬁ", YR | Hﬁf‘ﬁ[ﬁ' IR T

fame  srgisu g

® Securities and Exchange Board of India / @ﬂ{ﬁ?ﬂﬁ QE" Qﬁ'\‘l%l\_rf S 3T 'E'g'%CIT

® Stock and Exchange Board of India / TiPb @Qﬂ'\‘lﬁﬁ a-t‘:; 3T Q'%TIT

® Stock and Exchange Board of Investors / R}I’ﬂi E?:' Eﬂ'\"‘l%ﬁf a.t‘:; Gﬁ"‘F Eﬁ'\?'\‘f

® Securities and Exchange Board of Investors M= Q?-I Wa\_rf s 3w Eﬁ'\?'\‘f
Correct Answer :-Securities and Exchange Board of India / @W{ﬁﬁ?ﬂ @mﬁﬁaﬁé 3T fsar
12)

Question Stimulus :-

A sales representative plans to visit each of six companies M, N, P, Q, R and S exactly once
during the course of one day. She is setting up her schedule for the day according to the

following conditions: / T® fagrar ufaffy 3 ais=1 s91€ #1 98 M,N,P,Q,R 3R S ©: $UFAl # & TP
HuHl A o & it & e IR SR 39+ U1 3 &1 ey g fHan ey w6l & orgurR

1. She must visit M before N. / 1. 38 N 4 Ugd M ¥ faa=m =ifgul

2. She must visit N before Q. / 2. 38 Q ¥ ugd N ¥ faw=T =nfgu|

3. The third company she visits must be P. / 3. ?ﬂﬂ'ﬂfﬁq:ﬁﬁﬂﬁa? \‘rl'l?ﬂ% P ﬁT-ﬁilT%El

If the sales representative visits Q immediately before and immediately after S, she must

visit Q. / 3R fashar ufaf At ugat s & orar 8, o &4 <t Fu-ht # a8 gud IR wRA?
* First / TgIER

e Second / gmﬂw
e Fourth / TMNER

* Fifth / UrgdidR

Correct Answer :-Fifth / UrgdiaR

13)

Question Stimulus :-

(6)



Three friends want to hire a taxi for a trlp The taxi owner prov1des them with following

three options: / T R4 TH I & forw U et fhvw R &A1 Tred &1 i wifers 3<%
69 fIeea yer Hear @:

A. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for Rs. 500 per day. / A. 34 ﬁT-ITT;;"IETﬂ%

SR fHRE IR & Thd g1 ST fobvran yiafdT 2500 FUT §IT1 TSR g ToiRil A AT APl § SABT da]
500 ¥UT ufafeT shmi

B. You can hire the taxi with driver from the first agency. This would cost you Rs. 2800 per
day. But driver will have to be provided relief fund of Rs.250 per day if total distance

traveled exceeds 1500 KM. / B. 3T Ugell Toidil | SI3aR & 1Y TR & IHd g1 39T 2800 ufd fa=
FU BT Wd AT Afh T1ad B ufd i 250 T Wgd B9 71 g1, Al Fa g3t B a1 Bt 1500
fPardier I e grit

C. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for 50 paise per KM. / C. 31U ﬁ:lTsTs'ERa?

SR T R @ THd § SHPT fH-rn UiifeT 2500 FUY 11 FTFAR G-I Lokl A 3T AHdl § SABT da-T
50 T ufa fpaniies ghm

Option A would be preferable to option C only if the average number of KM/day exceeds? / A fdwea c A a'ET'R' @TIT

Fad R fraidier / RT #1 fud ¥ a1 4 1fy® 81?2

® 1000
® 1200
® 1400
® 2500

Correct Answer :-1000

14)
Question Stimulus :-

Which cricketer is also known as “The Wall”? / foq W 3| "ﬁ CIGM & A @ W ST SAer %‘?
® Sourav Ganguly / dRa Tl'l'ﬂﬁ:f
* Rahul Dravid / A &fdS
* Sachin Tendulkar / T ﬂw
e Anil Kumble / 3f91d $¥a

Correct Answer :-Rahul Dravid / JT§d &(dS

15)

(7)



Question Stimulus :-
I. There is a group of five persons A,B,C,D & E. / I. uTg afaaal A,B,C,D AR E DT UPh g %I

II. One of them a horticulturist, one is a physicist, one is a journalist, one is an industrialist
and one is an advocate. / II. 398 ¥ U& 3UH faRvy 8, T& HWifds Ul 8, U6 TR §, Th
ITNTUfd ® 3R TP a9 2|

III. Three of them A,C and Advocate prefer tea to coffee and two of them B and the

journalist prefer coffee to tea . / III. 398 9 @, A,C 3R THId BB F IO I UHE HId & 3R
3!, B 3R UIPR 910 & TSI HIB] UHE B &

IV. The industrialist, D and A are friends of one another but two of these prefer coffee to

tea. / IV. SENTUN, D 3R A U &R & fiF § WY 970 & &l I & oI H16! UG $d g |
V. The horticulturist is C’s brother. V. / 3T ARuF € &1 HiE 21

Which of the statements above is superfluous in order to answer the above questions? /

SWR P 74l & IW A & R SR F TUA1 & DI A1 HYA Ues g2
e III
o IV
o II
eV
Correct Answer :-I1

16)
Question Stimulus :-

After independence which was the first state to be formed on linguistic basis? / TSI & T1¢ gl IR S99 I
YTSTg SMYR UR fed fovar ar 412

* Tamil Nadu / afHETg

* Kerala/H3d

 Karnataka / Plc®H

e Andhra Pradesh / 3{if WGRT

Correct Answer :-Andhra Pradesh / 39 USRI

17)
Question Stimulus :-
Select the option, which is the logical equivalent of the statement given below: / dg foweg

(8)



g iar st IR Rt wHsE Fau= g :

"It is not true that both Mick and James are students” / "% I gl g & aHI e ik o= oF

gl

e If Mick is not a student, James is not a student. / I 7% T o7 78 8, 9= TP O1F 78!

gl

e James is not a student and Mick is not a student. / S/ T BT T&| ¢ 3R % T B
T8
e If James is not a student, Mick is not a student. / If¢ S+ TP BT 7! g, e T o 781

gl

* Mick is not a student or James is not a student. / P U BT 81 ¢ 1 9= TP BT 78!

gl

Correct Answer :-Mick is not a student or James is not a student. / & T& S A A1

Sv U BT T8l 2

18)
Question Stimulus :-

Who was conferred the first Sahitya Academy Award in Hindi in 19557 / 1955 ¥ Tduyd fod &t wiew
PTG REPR A T fBar mar un

® Sumitranandan Pant / ﬁ&ﬁn deq Ud

® Makhanlal Chaturvedi / ARG ?-I_gﬁﬂ

® Harivansh Rai Bachchan / m CEE]
® Munshi Premchand / 'ﬂ'Qﬂ ﬂ'FI'_cIE

Correct Answer :-Makhanlal Chaturvedi / AT AIA ﬂﬁ

19)
Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the

following / & g 3MYR I 91 36 o] 9 § § GAM | &1 IH [0 PioR

Water : Thirst :: / ST : T ::
® Food : Hunger / MTT : Y&

® Sun:Energy / '\Tf : St

©)



® Appetite : Meal / %91 : YIS

® [ce-Cream : Cold / ans'\cr-ﬁn : 68
Correct Answer :-Food : Hunger / @THT : Y&
20)

Question Stimulus :-

Election Commission of India is constituted under Article_ ./ HRd frafe= smanT __GF:!@_Q' & ded ufed %I
®* 326
* 325
* 324
* 327
Correct Answer :-324
21)

Question Stimulus :-

Who is the chairperson of India’s National Commission for Women? / YRd & ?TE[@TI Tfgdr ST Bt ar%m&raﬁ?

?
® Lalitha Kumaramangalam / qferar Q‘THRTITI?IT[
 Rekha Sharma / ¥&T XMT

® Jayanti Patnaik / Sl UeHATad

® Najma Heptulla / -TSTHT %’qm

Correct Answer :-Lalitha Kumaramangalam / @ferdT PHRHEITAH

22)
Question Stimulus :-

Directions: 5 persons are sitting in row. One of the two persons at the extreme ends is
intelligent and other one is fat. A fat person is sitting to the right of a weak person. A tall
person is to the left of the fat person. And the weak person is sitting between the

intelligent and fat person / fd3n: 5 wafdt ts Ufdd & 93 §U &1 TRE SR & ¢ dAfwal # A to
ST 8 TYT gRT HieT 81 T HieT Afdd UTh HHUR i & glie 3R 90T § | TH a1 Ffa Hiel sfad &
91 3R 96T 31 3R HHWR AfR glaur iR 1T safed & & & Ja1 81

Person to the left of weak person possesses which of the following characteristics? / PHWR

(10)



fe & I ofiR are wafe A § § $1  fa=ivans 9 gaa 82
e Intelligent / §fGHAT
* Fat /¥lerdl
* Fair /TR
e Tall /daTS

Correct Answer :-Intelligent /Tg'@'ﬂ'Fﬁ

23)
Question Stimulus :-
In a test taken by four candidates, A has scored more marks than R who has scored less than B. M’s marks are less than
A’s but more than B’s. Whose score is the second lowest? / dIR iy grRT ﬁ"l[ ¢ Th T ﬁ, Al RY SIftE
3P U gU &, O B oW 3i% U §U ] M & 3i% A ¥ B9 fooeg B A 3if¥® 7| fvas oiw fadla
oo &

e A

e M

e R

e B
Correct Answer :-B
24)
Question Stimulus :-

Following are the three views of a cube. Which of the following options is opposite to the face shown at the right? /

g a9 & 99 =xu g g # 9 #1931 faee erff iR fewr 1 wae & fudia &2

Ji

(11)



L

(3]

Correct Answer :-

25)
Question Stimulus :-

Direction: A person is asked to put in a basket one apple when ordered one, one guava
when ordered Two, one orange when ordered Three and is asked to take out from the
basket one apple and one guava both when ordered Four. The order sequence executed by

the person is as follows; /ﬁ%‘-‘ﬂ: Wﬁﬁ@ﬂﬁﬁ@@ﬁ@ﬂﬂﬁ%ﬁﬂwmﬁww
ST T 71T, U 3% oI GORT SIS 3T 741, T o1 919 T e f3am 7ar 3R Suw! Sl |
wﬁaaﬁgwmﬁmﬁﬁmwmﬁmWWW| AT & 3PH TP AR gRI Femifea
ST UPR &;

12332142314223314113234

How many fruits will be there in the basket at the end of the above order sequence? / 3id |

IR F AR & IHH A e H fraq wa s gl
e 10
e 11
e 12
e 13
Correct Answer :-11

26)
Question Stimulus :-

Madhya Pradesh is the largest state in India. / HE SR URT BT o=y = %|
® First / Ugdl

® Second / GuRT
® Third / THRT

® Tourth / YT

(12)



Correct Answer :-Second / X1

27)

Question Stimulus :-

Asirgarh Fort is located in which of the following districts? / \’rR{ﬁQTI?S 31 fover A forw fora # R %?

¢ Burhanpur / ¥eTHYRY

® Alirajpur / GI?ﬂTITrIET

® Rajgarh /IToe

® Shajapur / RIMSITYY
Correct Answer :-Burhanpur / §RgMYY
28)

Question Stimulus :-

The term of President of India is / WRd % PUR HT PRDA §_|
® 3 Years/3dy
® 4Years/4dY
® 5Years/5dY
® 7 Years/7d4

Correct Answer :-5 Years /5 a9

29)
Question Stimulus :-

After the British moved the capital of India to New Delhi, the summer capital of India was /faﬁ?ﬂ & mn?aaﬁmﬁrr#’tﬂ's‘
el @ oI & q1g, YRd & WHBTA I ISTart AT

Nainital / =@
Shimla / FRreer
Dehradun / S8RTEH
Mussorie / TLR]

Correct Answer :-shimla / RmEar

(13)



30)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faoe ?;{ﬁ'l'{
Sil 3T 7T HyAT vd el & 98§ T 2

Statements: / SYA:

All kerchiefs are towels / W $m@ difere &

All towels are blankets / 3 ?ﬁﬁ"’{ G
Conclusions: / fsp:

I. All kerchiefs are blankets / I. W ¥ $ad §

II. All blankets are towels / II. 9 $ad diflg

® Only conclusion I follows / Fad ey 1 fAwaar %

® Only conclusion Il follows /aﬁﬁ ﬁwﬁf n frreear %

® Both conclusion | and Il follows /?ﬁ:ﬁ e 1 Gﬁ? II pad %

* None of the conclusion I or II follows / i1 a1 11 § ¥ S =& FApaar g
Correct Answer :-Only conclusion I follows / ad e 1 fAadar %

31)

Question Stimulus :-

Haider Ali was succeeded by / %ET 3eil BT ITRIYPRI S UT?
® Tipu Sultan / 1Y G

 Murshid Quli Khan / g=if $al @

® Saadatullah Khan / dQTqld e W4
® Siraj-ud-Daula / RIRTSI 3¢ Sremm

Correct Answer :-Tipu Sultan / € J&iTH

32)

Question Stimulus :-
“Udbodhana” was written by? / "3@ " fFad GIRI forfaa &

(14)



® Ramakrishna Parmahamsa / ITHGW[ WRUEH
* Bipin Chandra Pal / f9fU9 o= ur@
® Annie Beasant /TFﬁ A<
® Swami Vivekananda /Tél'l'l:ﬁ ﬁﬁmﬂ-—d
Correct Answer :-Swami Vivekananda / ¥TH! fadera—<

33)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 79 vy &, Ugd o) vl & S fHA R A IS Yy g] A9 Ao & § o ug gHa
fraeT R U & 1Y I TSR $T HaY 7|

Aab:aAb:Pqr:?

® paR

® pQr

® PQr

®* pQGR
Correct Answer :-pQr
34)

Question Stimulus :-

Hieun Tsang visited India under the reign of ./ 'é? Gilul P MAETE § YR 3 |

® Kanishka / Hivep

® Harsha / E'Ef
® Chandragupta I/ - 1
 Ashoka / 3/=N&

Correct Answer :-Harsha / g4

35)

Question Stimulus :-
(15)



If cream cracker means computer programming, and it's not programming, then it’'s

cream cracker. /ﬁﬁ%ﬁwwm% GﬁT‘CI's'ﬁ";IT&I'lT:Rﬂ% a9 98 HIH D1 3l
* True/ '\‘Iﬁ
* False / Teld
* Maybe / B 9&dT 3
e Irrelevant / 3MRiRTH
Correct Answer :-False / TTeid
36)

Question Stimulus :-

Approximately 10 lakh bytes=__ ./ THIT 10 ARI dIgcd =
e Kilobyte / fpeliarse
® Gigabyte / mTaTSe
® Megabyte / ﬁw
® Terabyte / éTﬁﬂEE’

Correct Answer :-Megabyte / ATTAISC

37)

Question Stimulus :-

Which among the following sanctuaries has many rock shelters? / Frafafad siyarval & 9 fad 37_*'-3 3A® ATHT %‘.’
® Narsinghgarh / '—'IT@I'ET"IT{
® Shivpuri / ﬁ'ﬁl’gﬁ
® Ken Gharial / & m
® Kanha / DI+gl

Correct Answer :-Narsinghgarh / R8¢

38)

Question Stimulus :-

Which region specializes in Jalli works (patterns)? /?ﬁ:l T & SIreht (ﬁzﬁ') TR HTH Hdl % 3R 399 HIgY %'?

(16)



* Gwalior / TR

* Ujjain / I

® Tikamgarh /'cﬁm
® Chitrakoot / ﬁﬁl@'

Correct Answer :-Gwalior / TdTfeTaR

39)
Question Stimulus :-

Which was earlier known to be the capital of Scindia clan of Gwalior in the summer? /g RITH ug@f IR *
Riftrar uRRar &) Hreaered= s SET Siar 9Tl

® Ranikhet / IRAd
® Shivpuri / ﬁ'ﬁ'ﬂﬁ
® Jabalpur / STdAYR
® Chitrakoot / ﬁﬁ!@

Correct Answer :-shivpuri / FRIagst

40)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / g faweu gfHQ
it fgu T Syt Td fArehul & R & 98 2

Statements: / PYUH:

All hens are ducks / 94 gfifal gova &

Some parrots are not hens / $9 ?ﬁ?f'ﬁﬁfﬁ?&ﬁ%
Conclusions: / fAwsd:

I. All ducks are parrots / I. 9" gd@ dld &

II. Some parrots are not ducks / II. $9 e g el &
® Only conclusion | follows / W forepd 1 IGESGI %
® Only conclusion Il followslm farspd 1 fpaar %
® Both conclusion | and Il follows /?ﬁ:ﬁ foreed 1 3R 11 e %

(17)



e None of the conclusion I or II follows / A=Y 1 a1 11 # & %1 -5l FNpaar g

Correct Answer :-None of the conclusion I or II follows / fepd 1 ar 11 # J HI5 &)
Foaar

Topic:- Mental Ability and Mental Aptitude
1)
Question Stimulus :-

In the sequence shown below, which figure comes next? / -9 fR@R T H9 & ATl P
S At ghfiz

@80 000 00 ®00
299 L X 1 ] L 1 1 L 1 1
eoe 000 80 800
[elole,
1T
@00 |
[}
8C0O
T
Q00
[ J
Q00
ede
OO0
[}
Q0
*8 0
800
[ ]
000
1Y)
@00 |

Correct Answer :-

2)
Question Stimulus :-

A grain merchant sold 600 quintals of rice at a profit of 7%. If a quintal of rice cost him Rs1600. Find his
total profit & the selling price? / T 3Tl ATYRT 600 fPed @A 7% P @Y W 9941 21 Ife TP fbed amaa
3T 1600 TUT A WIS & Y ST $o aATY 3N fIspt Yo uar w31

® 67200,1027200

(18)



® 77200,927200
® 57200,827200

® None of these./ Eﬁﬁﬁé =ré°r

Correct Answer :-67200,1027200

3)
Question Stimulus :-

The price of rice falls by 20%. By what percentage a percent can increase the
consumption of rice so that his overall budget does not change?/ dTdd & H1Hd 20% ©c
ST 81 U ufad fpa ufa=id 9 9rad & Wud &1 9eT¢ d1ie SUP $d deic # SIS deard 7 812

* 20%

* 30%

® 25%

® 35%
Correct Answer :-25%
4)

Question Stimulus :-

Tickets numbered from 1 to 25 are mixed up and a ticket is drawn at random. What is the probability that it is a
multiple of 4? / 19 25 9 Y& & fepe M A e MU g, v fewe &1 arfaafirg ¢ 9 fRreren ST 81/
TRTAAT & B i) TBAT ST ITBT 0T 4 3A?

® 1/5

® 4/25

® 6/25

® 7/25
Correct Answer :-6/25
5)
Question Stimulus :-

The value of (x2-4) is / (x?-4) FTHA &

(19)



* (x-4)(x+4)
e (x-1)(x+1)
* (x+2)(x-2)

* None of these / 399 I B3 81

Correct Answer :-(x+2)(x-2)

6)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one
given below? / 99 fed 70 IR ual # ¥ ¥ i3 ¥ vd & S G0 S19 91 TP 81 82

Beyond Limits Adventures, Inc.
E-Mail: bla@rivertrip.com

P.O. Box 215

Riverbank, California 95367
(209) 869-6060

(800) 234-RAFT (7238)

Fax: (209) 869-4730

(i) Beyond Limits Adventures, Inc.
E-Mail: bla@rivertrip.com

P.O. Box 215

Riverbank, California 95367

(209) 869-6060

(800) 234-RAFT (7238)

Fax: (209) 869-4730

(ii) Beyond Limits Adventures, Inc.

E-Mail: bla@rivertrip.com
(20)



P.O. Box 215

Riverbank, California 95367
(209) 869-6060

(800) 234-RAFT (7238)
Fax: (209) 869-4730

(iv) Beyond Limits Adventures, Inc.

E-Mail: bla@rivertrip.com
P.O. Box 215

Riverbank, California 95367
(209) 869-6060

(800) 234-RAFT (7238)
Fax: (209) 869-4730

(iv) Beyond Limits Adventures, Inc.

E-Mail: bla@rivertirp.com
P.O. Box 215

Riverbank, California 95367
(209) 869-6060

(800) 234-RAFT (7238)
Fax: (209) 869-4730

o i
o i
o il
° iv
Correct Answer :-iv

7)
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Question Stimulus :-

The average weight of 40 students in a class is 30kg, while the average vyeight of another
20 students is 33kgs.Find the overall average weight? / T ®&T § 40 SHEI BT 3Gd a5
30fFdl 8, Saf® 3 20 BEI BT 3fi9d g 33/ P! 8] I 3i9d ao Freprfee?

e 33

e 30

e 35

e 31
Correct Answer :-33
8)

Question Stimulus :-

Tickets numbered from 1 to 20 are mixed up and a ticket is drawn at random. What is the probability that it is multiple
of 32 / 19 20 9% TGN & fewe 3mud # fire U B, ve fewe ot sifvrafira @ frepren wmar 31 wam awima
2 P S} ST 3T SHDT YOI 3 3T

®* 3/10

® 7/20

® 1/5

« 1/4
Correct Answer :-3/10
9)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁlﬂ &R gAb SR DI T aﬁﬁl'[{ : cc_abb _abbcc_bc_aa
® aach
® aabc
® bcaa

® caba

Correct Answer :-aabc
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10)
Question Stimulus :-

The series given below contains a sequence of alphabets and numbers. Identify the

incorrect combination: / R € 7E g@an &Rt v GRS BT ITHH TANT el 3] T JAIH
qEa|

(i) ve6x0ig9fp
(ii) ve6x0i9gfp
(iii) ve6x0ig9fp
(iv) ve6x0ig9fp
° i
e ii
e iii
* iv
Correct Answer :-ii
11)
Question Stimulus :-

In a certain code language, bart il arn means thrills and frills, hed mik ain means diamonds
are forever, ad ket hed means hard as diamonds, lim arn kelt means rock music thrills, ket
kelt Iim means hard rock music. Which is the word for mik in that code language? / &3t
WY HIS HIYT ﬁ, bart il arn &1 Hddd % thrills and frills, hed mik ain T Hddd % diamonds are
forever, ad ket hed &1 Hddd % hard as diamonds, lim arn kelt T Hddd % rock music thrills,
ket kelt Ilim T Hddd % hard rock music | 3 PIS YT H mik & ﬁ-rq HT VWeq %?

® are

® forever

® are or forever
® hard

Correct Answer :-are or forever

12)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / ﬁl’g Wﬁf CAREIE K] ﬁn?r

(23)



AaH =T | fpa- W yarsi ot smaawar g

e 9

e 7

e 11

e 8
Correct Answer :-8
13)

Question Stimulus :-

A fruit seller brought 12 dozen oranges at Rs. 16 per dozen & an equal number at Rs.15 per dozen. He
sold them at Rs. 15.75 per dozen. What is his loss or gain percent? / U& el faspar v 16 TUY 3R 15 *TUY
GOl & AT HBAT | 12 goi Jav W | 38 15.75 Uid goi- & f3a1d & 39 ol &t o faar saet g1+ an
T Ufa=Td T 82

1%
e 13l 0f

g
o 23 op

19
e 3 3oy

None of these / 3_-“3[ ] H’ﬁ'sc el

1%

Correct Answer ;-1 ! 9%

14)

Question Stimulus :-
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1 1

4 7
Raghunath Shetty buys 9 m of cloth at Rs 12 © per meter, from Khadi Bhandar. How
1 1

4 2 :
much should he pay to Khadi Bhandar? / Ig-IY qET9 W HUSI 12 © & yfd # W WiEl YeR A

Giedr 2] IV W HSR B BT Y ST a1ieT?

2| L

Rs 205

ca| L

® Rs 210

o | L

® Rs 105

| L

Rs 115

0| L

Correct Answer :-Rs 115

15)
Question Stimulus :-

A is twice as fast as B and B is thrice as fast as C. The journey covered by C in 54 minutes will be covered by B in/ A CARIGE:!

wﬁﬁﬁ%eﬁ?sﬁwﬁcaﬁﬁﬁ?ﬁmél 54 fFTe § C gRT 9 91 A g1 B B oA 99T & @@

e 18 min/ 18 e

e 27 min/ 27 e

* 36 min/36 fiFE

® 9min/9 e
Correct Answer :-18 min/ 18 ffFe
16)

Question Stimulus :-

The value of 0! Is / 0! BT HIH %

(25)



e 1
e 0
e 00
® None ofthesel%*lﬁﬁﬂ"ﬁéﬂ'ﬁl
Correct Answer :-1

17)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW 31&R gADR 4G HI T IO : aa _
cab_cab _ca C

® bbbhca

® cabbb

® bbcab

® pcadb
Correct Answer :-bbcab
18)
Question Stimulus :-

In a certain code language, Mu means A, Nu means M, Xi means L, Theta means
E. Which of the following will not make an English word? / &<l @9 ®is YT #H,
Mu P HdAd 8 A, Nu &1 Hddd € M, Xi &1 Haad € L, Theta $1 Adad ¢ E | & 9 siish
BT o B 81 TTRI?

® Nu Theta Mu Xi
® Nu Mu Xi Theta
e Xi Mu Nu Theta
® Theta Nu Xi Mu

Correct Answer :-Theta Nu Xi Mu

19)

Question Stimulus :-

(26)



In a certain code language, bart il arn means thrills and frills, hed mik ain means diamonds
are forever, ad ket hed means hard as diamonds, lim arn kelt means rock music thrills, ket
kelt Iim means hard rock music. Which is the word for bart in that code language? / it
T HIS U ﬁ, bart il arn o1 Hddd % thrills and frills, hed mik ain &1 Hddd % diamonds are
forever, ad ket hed 1 Hddd % hard as diamonds, Iim arn kelt &1 Hddd % rock music thrills,
ket kelt lim 1 Hddd % hard rock music | I PIs HIWT § bart ﬁ'[{ HT Weqq %?

® are

® and or frills

® gas

® frock
Correct Answer :-and or frills
20)

Question Stimulus :-

148% of 3175 + 365 =?% of 6000 + 564/ 3175 &1 148%+ 365 =6000 &I 2% + 564
® 70%
* 80%
® 90%
® 75%
Correct Answer :-75%
21)

Question Stimulus :-

A and B can together finish a work in 30 days. They worked together for 20 days and then A left. After
another 25 days, B finished the remaining work. In how many days ‘B’ alone can finish the work? / A

3R B TP o $I A1 & 30 A1 & 1 BRI 81 2 20 A1 9% Wy w1 fFar 3k R A 7ar m|
3RTA 25 AT & a1g, B 7 91t &1 R fbani B’ b fhawt AT O &0 &) 1 o= aFar 82

* 75days / 75 e
* 60 days / 60 &
e 50 days / 50 fe

* 45days / 45 e

(27)



Correct Answer :-75 days / 75 fa

22)
Question Stimulus :-

In covering a certain distance, the speeds of A and B are in the ratio of 3:4. A takes 30
minutes more than B to reach to the destination. The time taken by A to reach the
destination is/ & ff3d g&f @1 7@ &1 #, A 3R B 31 71 3:4 & 3Jurd H 81 30U Tided WH qF
gﬁaﬁ%ﬁq A ® B 9 ga-T # 30 e 3if¥e @ 31 Tide R 9% Ugad & e A gR1 forar war awg

1 1
J E rs/2 e
® 2hrs/2%¢
* 1hr/18e

1 1
c12hrs/12W

Correct Answer :-2 hrs/ 2 9¢

23)
Question Stimulus :-

In the following question, a system is used whereby the code for the word
ABSTEMIOUS is 12@#5$9%/@. / & Uy ¥, ts yureit &1 waiT forar 3 forad
ABSTEMIOUS ¥ & fo) #1s 12@#5$9% " @ ®|

What is the code for MOST? / MOST & o0 FIT #IS &2
o %S$@#
o $@%#
o $%#@
o $%@#
Correct Answer :-$%@#

24)

Question Stimulus :-

In a certain code language MARUTI is coded as NBSVUJ then in that language VEHICLES is
coded as: / & Tidfa®w yaT & MARUTI &t NBSVUI & Hifsa farar wirar § @ 39 4o § VEHICLES

(28)



1 T Sifed fbar s
e WFIJDNFT
 WFIIDMET
e WFIKDMFT
 WFIIDMFT

Correct Answer :-WFIJDNFT

25)
Question Stimulus :-

Complete the series choosing the missing number: / fA@w =T ISR SGa1 BT TRI

HIFT :

1,2,5,12,27,58,

e 120
e 121
e 119
e 122
Correct Answer :-121

26)
Question Stimulus :-
Complete the series choosing the missing number: / AW JBAT TAHY HTAT BT T BIOIT :

11,12,17,18,23,24,
e 12
e 29
e 30
e 35
Correct Answer :-29
27)

(29)



Question Stimulus :-

If m: n = 2:3, n:l = 6:7 then what is the value of m:I? / gl m:n = 2:3, n:l = 6:7
g d m:1 &1 |1 9 82

e 4:7

o 5:7

e 4:5

® None / aﬂs‘ =|€f
Correct Answer :-4:7

28)
Question Stimulus :-

(105/35)x9+(18/6)x10-(81/9)x3=?
e 30
e 35
e 40
e 45
Correct Answer :-30

29)
Question Stimulus :-

In the following questlon, one term in the number series is wrong. Find out the
wrong term. JACCR K| W@Tmﬁwlﬁﬂﬁﬁ%lﬂ?ﬁqﬁm |

15,16,22,29,45,70
e 22
e 45
e 16
e 70

Correct Answer :-22
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30)

Question Stimulus :-

438M x 7900 = 3464M00

Where M is representing a numeral; find the value of ‘M’? / 438M x 7900 = 3464M00 S8l M Tdh T=TH %; ad ‘M BT

ar e
e 5
e 3
e 2
e 0
Correct Answer :-5

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

Infrasonic sounds are / 3UYH Wﬁl’qﬁl%

e Sounds of frequency between 60 Hz to 13000 Hz / 3df@ 60 Hz ¥ 13000 Hz & U Hi
saf=rar

e Sounds of frequency below 20 Hz / 3Mgfa@ 20 Hz ¥ X # wf T

® Sounds of frequency between20 Hz to 20000 Hz / anq% 20 Hz ¥ 20000 Hz & 9 $1
E L4

® Sounds of frequency above 20000Hz / \"H'Iq% 20000Hz & U B af~rar

Correct Answer :-Sounds of frequency below 20 Hz / GHQ‘% 20 Hz 9 7 &1 @t

2)
Question Stimulus :-

10 students of a class ten took part in science quiz and the number of girls is 4 more than
the number of boys. The pair of linear equations to represent this situation is

, iIf X, y represents the number of girls and boys, respectively. / T HE&il ¥ 10
BE A fOga & e # YR forn oik asferdl @ I s o 4B 9§ 4 wier ¢1 39 fUfd # g2 &
fore Y& wfieur &1 g 2, afe x, y PR ASiPal Ud do®! @1 =T B =i B

® x+y—-10=0andx+y+4=0

® x+y-10=0andx-y+4=0
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® x+y-10=0andx-y-4=0
® x—-y+10=0andx+y+4=0
Correct Answer :-x+y-10=0andx-y-4=0

3)
Question Stimulus :-

Dhaniram of Agra is in the business of buying and selling wooden models of the Taj Mahal.
At the beginning of every month he counts the stock available (opening stock) at the shop,
and then purchases new stock (purchases) to meet his sales for the whole month. The
stock remaining at the end of every month (closing stock) is carried over to the next month
for sales and so on. Following table shows his opening stock, purchases, sales and closing
stock (all in numbers of units) for a period of six months. Some cells have been left blank
intentionally. / 3TRT & YR AHS! & doHEd P AiSd] B TilgH MR o1 & PRIGR A g1 8% 7oA
@1 YA | 98 gp M W fawl & g Iuasy wra (mifie arer) fiear 8, ik fibe an uma @i s @@
T @1 fossl T F= & 1T et 81 9 o 9E & oid o o g UTa (SRSt 59 gl HId) SRTd g
[ F e @ a1 31 g aifereT 6 7 F Saft &1 39St SRR Hid, Tig, [t ik w=r gom e
(T soEal F T= #) RErd 81 7 T &) SHgges |t Sis f&ar T gl

Particulars/=ziT

Feb

Mar

Apr

May

Jun

Opening Stock!

Sl

Purchases/aas

120

130

Available for

150

165

1585

Sales / TE6T ¥
AT

Sales /sy 110 10
FHET AT
T / TR
Closing Stock ! | 40 13
AT T g
AT

&0 0

L
1w

What were the sales in the month of June? / 1 & Tgi= ¥ fass! @m ft?

® 120 units / 120 SHTg
® 125 units / 125 SHTS

® 130 units / 130 SHTS
e 135 units / 135 so15

Correct Answer :-135 units / 135 &1
4)
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Question Stimulus :-

AB and CD are 2 line segments which bisects one another at their point of
intersection O. Then AABC @ ABOD using congruency criterion. / AB

3R CD 3 YERES § o T g H! 31 Uit fig W g #wa g1 aw
gatmaar a9 & $ER AABC @ ABOD

* SAS / YW — B - Yl

* ASA / IV — Yl - BT

* AAS / HIU — BV - Yo

® SSS / YSil — YSiT — Yl
Correct Answer :-SAS / Yl - BT — Y

5)
Question Stimulus :-

Dhaniram of Agra is in the business of buying and selling wooden models of the Taj Mahal.
At the beginning of every month he counts the stock available (opening stock) at the shop,
and then purchases new stock (purchases) to meet his sales for the whole month. The
stock remaining at the end of every month (closing stock) is carried over to the next month
for sales and so on. Following table shows his opening stock, purchases, sales and closing
stock (all in numbers of units) for a period of six months. Some cells have been left blank
intentionally. / 3TRT & YR dHel & dHed & Alsdl B! WG R F91 & PRIGR A 21 &< 78
B! I[EIE | 98 gF M R At F g Iuasy A (mfie arer) fmrar 8, ik fhr 7a1 ura Wil v @@
TR @ foe) T o & fore et 71 ) o) 9 & ofd § o4 g uIe (SRS S g uId) SnTa wEA
I F e 3@ a1 31 g aiferet 6 78 3 3aft &1 ST R wre, Tdg, et ik w=r gom wra
(Y sHEYl B T= #) e g1 79 TEl B SFgger |l Sis fear T g1

Particulars/=gir

Jan

Feb

Mar

Apr

May

Jun

Qpening Stock!
HHEE A

30

el

Purchasesiadg

120

1130

125

Available for
Sales / TEshr &
"I

150

163

163

Sales / saiy
T AT
o/ T

10

140

Closing Stock/
TR 9 g3
)

40

15

60

L]

What were the average purchases made my Dhaniram from January to May? / SR 9 Il'sg qTP Y-IRTH QIR| G|

TS 39d @iie & A2
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® 125 units/month / 125 SHTS /HEIT
® 128 units/month / 128 SPTS /HEIT
e 131 units/month / 131 W‘é’/ﬂﬁfﬂ
® 142 units/month / 142 ST /HEIAT

Correct Answer :-131 units/month / 131 S®T5/HaIAT

6)
Question Stimulus :-

The first step before growing of crops / T @i Q'@ I ua?r DI IRUT %
® The soil should have nutrients / Hal o Uiy® gﬁ T:II'%Q
® The soil should be neither acidic nor alkaline / {al = a ki) Gﬁ?' -1 ﬁ &I'Iﬂ'q 3.17-?[ EIT%"{
® The soil should have sufficient nutrients / Hal o q'ﬂ'fl?[ HIEAT 'Ef tﬁW Eﬁﬁ' EIT%E[
® The soil has to be prepared well by tilling. / Hal CaRvIGE K3 1Ky 33T GEE T dur fFar s iﬂ'%({

Correct Answer :-The soil has to be prepared well by tilling. / J&T P Sdq & GIRT 3T a8 9 TR
forar ST =nfee

7)
Question Stimulus :-

If POR and SOQ are 2 mutually perpendicular diameters of a circle with centre O, then the tangents at P, Q, R, S forms a
./ O %% arad gd ¥ IfS PoR T s0Q & TR THad NI &, 1 P, Q, R, S TR T=f ¥@T
CEIGi
® Rhombus / WT'-IT:I'EIW
® Triangle / ﬁf’lj\_:l
® Square / Goj
® Trapezium / HHIH aﬂ'{-lﬁ (SHHTARYW)
Correct Answer :-square / @
8)
Question Stimulus :-

The number is a three digit number with prime digit in its hundred’s place. The number is

(34)



divisible by 5. The sum of the digits of the quotient is again a prime number. If so, the
original number is / EE?-ﬂT-I Wﬁm 3‘\‘1‘3[ F RFE R TP U ST
g1 =1 5 ¥ Ay g1 W%Wﬁtﬁﬂmﬁwe{mw%l afE Tar B, A q@

Her gl

® 315
® 345
® 550

® 500

Correct Answer :-345

9)
Question Stimulus :-

Dhaniram of Agra is in the business of buying and selling wooden models of the Taj Mahal.
At the beginning of every month he counts the stock available (opening stock) at the shop,
and then purchases new stock (purchases) to meet his sales for the whole month. The
stock remaining at the end of every month (closing stock) is carried over to the next month
for sales and so on. Following table shows his opening stock, purchases, sales and closing
stock (all in numbers of units) for a period of six months. Some cells have been left blank
intentionally. / 3TRT & Y<IRTH AHS! & dSHEA & AISdl BT T MR I P PRIGR A g1 &% 7oA
D! T § 98 gP M W At & g Iuasy ara (mfie arer) e 8, iR R =ar ura @il v @
A @ fasl Tt w1 & 1T vaar 31 ) oX 9 & ofd o g g ura (SRS §9 g uid) SnTa wEH
d91 & fore @ Tar 71 Y aifereT 6 AeR @1 3raf &1 39wt Rfie wr|, wilg, [t iR = g ura
(Y soEal B TE #) RErd 81 $9 Tl &1 SHgge el Sis dar T gl

Particulars/=giT

Jan

Feb

Mar

Apr

May

Jun

Opening Stock!

30

40

Purchasesiaie

120

130

125

Available for
Sales / &6 &
oI 3Twetl
HId

150

165

185

1465

Sales /==iy
HHTF T
e f fashr

110

140

“Closing Stock/
aTad Tar g
A

40

13

G0

£l

What were the average sales made by Dhaniram from February to June? / Y-IRTH §RT BRas! 4 O dob GOl
3itea fast @ @2

® 128 units/month / 128 W/'ﬂﬁ*ﬂ
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« 130 units/month /130 SHI5/HGIHI
® 132 units/month / 132 Eﬁé/ﬂiﬂm
® 133.5 units/month / 133.5 SPTS /HBIHT

Correct Answer :-130 units/month /130 S®Ts /A

10)

Question Stimulus :-

The value of sin 30° + cos 30° is /30°+cos30°BIHN____ B
¢ 12
[1 =3 ;L-’E.
o 1
o 24872
=B

Correct Answer :-"
11)
Question Stimulus :-

The quadratic equation having roots -1/3 and 5/2 is /9a-1/3 3R
5/2 arell fgurd qHie o g

6x2+13x+5=0

6x2-13x+5=0

6x2-13x-5=0

6x2+13x-5=0

Correct Answer :-6x2-13x-5=0

12)
Question Stimulus :-

Dhaniram of Agra is in the business of buying and selling wooden models of the Taj Mahal.
At the beginning of every month he counts the stock available (opening stock) at the shop,
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and then purchases new stock (purchases) to meet his sales for the whole month. The
stock remaining at the end of every month (closing stock) is carried over to the next month
for sales and so on. Following table shows his opening stock, purchases, sales and closing
stock (all in numbers of units) for a period of six months. Some cells have been left blank

intentionally. / 3TRT & YR Ahel & doHed & Aisdl B TG 3R J91 P PRIGR A g1 &< 761
B! T | 98 gF M W faww! & g Suasy wra (Smifie arer) fan 8, SR fisw e uma @i = IR
TR @ foes) T = & ore et 31 ) &) wE & ofd § o g uTe (SRS S g uie) SnTd wEA
M & e @ a1 31 g aiferet 6 78 3 3aft &1 ST e wra, @ dig, st ik w=r gom wra
(Y sPEYl B T= #) e g1 7 T 31 SHFgges el S fear T g1

Particulars/=afy | Jan Feb Mar Apr May Jun
Opening Stock! | 30 40
s A
Purchasesfafe | 120 150 175
Available for 150 140 165 183 165
Sales /T&Hr &
oI 3TeTetl
AT

Sales /=it 1in 140
HRTE AT
LALVACLY
Closing Stock /! | 40 i3
TR T g
HT

6 a0

L
A

What was the closing stock at the end of March? /'Frﬁf u?ﬁ & 3id H 5= BT HIST T YT?
® 15 units / 15 SPTS
® 25 units / 25 SPTS
® 40 units / 40 SPTS
® 55 units / 55 SHIS

Correct Answer :=25 units / 25 3PS

13)
Question Stimulus :-

Dhaniram of Agra is in the business of buying and selling wooden models of the Taj Mahal.
At the beginning of every month he counts the stock available (opening stock) at the shop,
and then purchases new stock (purchases) to meet his sales for the whole month. The
stock remaining at the end of every month (closing stock) is carried over to the next month
for sales and so on. Following table shows his opening stock, purchases, sales and closing
stock (all in numbers of units) for a period of six months. Some cells have been left blank
intentionally. / 3TRT ¥ YR TSI P dHEA P AlSdl Bl @il 3R 391 & PRGN § g1 & HelH
P BT W 98 g R Il & g Suasy ura (mfie arer) fAFar €, ok fibe a1 vra @il s @
g @1 fosl it F & 1T 3@ar 31 91 g% HEH & 3fd o g g uIa (SRSt §9 g1 HId) SRTd "gH
I & g 3@ a1 31 g aifereT 6 7R 3 Saft &1 SumT SRR Hie, Tie, [t ok s gom A

(37)



(A soal @ T= ®) RErd 81 $8 Tl &1 SaHgger Wl 91 f&ar T g1

Parficulars/=afy| Jan Feb Mar Apr May Jun
Opening 3tock! | 30 0
MHEEE AT
Purchasesimge | 120 7 130 125
Available for 130 140 163 185 165
Sales / &6 &
oI 3Twet]
AT

Sales | e=iy 1o 140
T AT
Leci-FACED |
Closing Stock/ | 40 15
i)

a0 10

1
(=]

How many units did Dhaniram purchase in the month of April? / IR J 3l & 'Flﬁef H fopa- m G|
wiar?

® 125 units / 125 SPT
® 140 units / 140 SHTS
® 150 units / 150 SHTg
® 160 units / 160 SHTS

Correct Answer :-160 units / 160 STS

14)
Question Stimulus :-

The shock waves generated in solid rock by earthquakes are called / Qﬁq &R 3 iIEFﬁ A I yaral T3

® gravitational waves / W GER|
® transverse waves / SIJUT GELll
® ripples / ¢gY
® seismic waves / ‘l-Eﬂﬁ GRS
Correct Answer :-seismic waves / Ul T

15)

Question Stimulus :-
(38)



Identify the WRONG statement from the following statements / g oY= § @ Tad BYF B UE?IT&I'Q'

® Electric charge can neither be created nor destroyed / ﬁf{qﬁ 3MAY 7 d1 ST ﬁ?E ST ghd % 3R = E?f
¥ fpT &I & B

® Charge transfer can take place only as integral multiples of the charge possessed by an electron /
STAY BT WAMFIARYT Had a9 &l Tbdl g od MTARN & U UM FAGET GIRT YROT Bl
gl

® Atmosphere contains charges / ATYHUS A s | enﬁ%zr Gﬁﬁg E.ﬁ' %'I

® Electroscope is an instrument for measuring current due to charges / STARN & PIRUT ST RT Bl
AT BT U IUB0T fagaaaal

Correct Answer :-Electroscope is an instrument for measuring current due to charges / STARN & PRI

A YRT Bl AU FT TP IUBIVT fagaaesi 31

16)
Question Stimulus :-

The microbes which convert the dead plants and animals to humus is known as / & 'ﬁ?ﬂ'\?ﬂﬁ Ell qd gaafa SR
ugga P gowd ¥ uivafdd ed §, 9 9d §

® producers / SUTGdH

® consumers /G'qq-ﬁﬂﬁT

® decomposers / SUICH

® converters / uRade
Correct Answer :-decomposers / fUdch
17)

Question Stimulus :-

Do plants respire? If so, how? / T 0 99 dd ?? ?T% Esf, al $ar

® Yes, by taking in carbon dioxide and giving out oxygen /ﬁ, Pra STS3MRITSS A9 3R SifRfte Eﬁ?:ﬁ
& gRT

® Yes, by taking in oxygen and giving out carbon dioxide / 81, SiTeRie o 3R S Erser‘l'aﬂrs'g Tﬁ?:ﬁ
& gIRT

® No, they cannot respire / T'Iﬁ, 3 9 T'I%DI o IBd
e Yes, by performing photosynthesis / &I, UPT HAYU & GRT
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Correct Answer :-Yes, by taking in oxygen and giving out carbon dioxide /BT, TeRite a9 3R Pra=
STS3HTHITES BIgA b gRI

18)
Question Stimulus :-
Cud is the name given to the food of ruminants which is / qnwﬁ IfiHc & HieH &I 1%!11 T A9TH % S %
* undigested food / o IT Tl gl Yo
® properly chewed and partially digested food / 33t GEE I 9&rar gl 3R 32 U=m g3l i
* swallowed and partially digested food / IBUGH gl 3R 32 U= g3l e
® properly chewed and completely digested food / 3Bt GERE T =9TaT g3l 3R w GEE T u=n gl e

Correct Answer :-swallowed and partially digested food / e gl 3R Si=rd: U= gl
e

19)
Question Stimulus :-
A

B
If the ratio of A to B is 9 times the ratio of B to A, then could be: / geAdB
A

$T1 UM, B Y A ¥ SUA BT O R, @ BNT

| =

1
g

[ ]
Correct Answer :-3

20)
Question Stimulus :-

The dynamic living entity of the earth is the / gl &1 wfaziia sifaa a=m g

(40)



® Human population / HTFd S=HSAT
® Forest/d-

® Wild Animals / STt P

® Green plants / 'E»':Q' u?é}

Correct Answer :-Forest /A9

21)
Question Stimulus :-

The shaded region in the figure is called ./ = ° sruifea P;‘]_al' Dodldl %
(.

® Minor sector / ¢q Preads

® Major sector / Eﬁ"if IEGICES

® Minor segment / ¢Y TS

® Major segment / Eﬂ"if TS
Correct Answer :-Minor segment / €Y TS
22)

Question Stimulus :-

If the selling price of Rs. 24 results in a 20% discount on list price, what selling price would result in a 30% discount on

list price? / TfE 24 TUA F fapy Yea & UMY Wy, Sifehd o W 20% o ge fad 8, af forae
T & faspa gea & uivony W@, Sifhd Yo R 30% &1 ge fianii?

® 20

® 19

* 21

Correct Answer :-21

(41)



23)
Question Stimulus :-

Friction can be reduced by using / SH®PI TN B3P YT DI HH a7 ST JehdT %’
* oil / d9
® Grease / I
® powder / OI3S?
® All of these / SWRIad I+
Correct Answer :-All of these / SURIad It

24)

Question Stimulus :-

A chemical change may involve / T IS uiadq § iﬁe[ W FRITET %
e change in colour only / | 3 # yRadT
® change in temperature only / AT dTUHTA # uf¥ad+
e evolution of gas only / UF 9 &1 Ae™

® any or all of the above / T:"Cl'gﬁ gt a1 Tﬁ'&; Tdh

Correct Answer :-any or all of the above / B'Q'éﬂﬁ Tt ar ﬁ% TP

25)

Question Stimulus :-

Which of the following statement is not true about deforestation ? / g =) I AT BYA ﬂ*&?ﬁ & faug o
B 81 82

® Loss of habitat is the result of deforestation / TIRT DY BT ?F-ﬁﬁlﬁq &1 ufkomy
* Soil erosion is a major cause of deforestation / HGI UG EFﬁEEFI BT YUY hRUT ?

e Increase in the level of CO5 is a result of deforestation / CO> & &R

o gfeg a=i=g@= &1 ufkomy @
® Developmental activities is a cause for deforestation / faraTa® fpared a=ﬁ=13§1=r DT PIRUT %’I

Correct Answer :-soil erosion is a major cause of deforestation / H{qI 3U¥G W CRELEC)
BRUT g

(42)



26)
Question Stimulus :-

If the area of a square is 256 m?, find the length of each side of the square. / Tt TH I BT &% 256
ez 2 3, @1 39 @ &1 UAS YOIl &1 aETs J1d Dol

* 16m /16"
e 128 m /128 Hiex
* 64m/64 R
* 32m/32HIR

Correct Answer :-16 m / 16 Hiex

27)

Question Stimulus :-

The real image of the sun is formed by a / '\Tf CIRCIESICE RN GIEE 3'\"1% gIRT d-dT %’
® Convex mirror / 3dd E&UT
® (Concave mirror / 3ddd E;'TfUT
® Plane mirror / HHJIA E&UT
® Spherical mirror / e guur

Correct Answer :-Concave mirror / 3radad gyur

28)
Question Stimulus :-

A clinical thermometer reads temperature from / T ﬁa'lﬁ'ﬁ? yaiHiex argaE Yedl %
e 55°C to 80°C / 55°C ¥ 80°C
* 35°C to 42°C / 35°C & 42°C
® 30°C to 40°C / 30°C & 40°C
e 25°C to 40°C / 25°C ¥ 40°C

Correct Answer :-35°C to 42°C / 35°C ¥ 42°C

(43)



29)
Question Stimulus :-

During electroplating of copper on an iron spoon, / qid 1 olig B THE R ﬁgﬂﬂ GLEkg Ea?T-'-I
® mass of the anode increases /f{-’-ﬁ%" BT GHHTH TSI%TIT
® mass of the cathode increases / FUT PT SHTH 3%1'“
® mass of the cathode decreases / SUTS BT QAHTT e |
® concentration of the electrolyte increases / ﬁgwm BT gl E%TIT

Correct Answer :-mass of the cathode decreases / PUIS DT SHHAT TSI

30)
Question Stimulus :-

The term “Zari” refers to; / UG “SIR1" 3'\& I BT &
® Metal threads woven into cloth / ®US § gﬁ ™ Urq & U
® Silk threads woven into cloth / HUS ¥ §ﬁ T IR & Y
® Beads attached to cloth / am% J ﬁ@{ i

e Cotton threads woven into cloth / ®US o gﬁ ™ '\‘B‘ﬂ F Tt
Correct Answer :-Metal threads woven into cloth / HUS H gﬁ ™ Yrg & U

(44)



